1.

xt +4x3 = 20 4 ax + b7} oA O] SRAAEA o] B W, A a,b 9

;27
@ a=12b=9 @az—lQ,b:Q
® a=12,b=-9 @ a=-12, b=-9

® a=9, b=12

B

¥ rad -2 tax+b=(x*+px+q)?C=2 oW
o] 2] Sl

x* +2x%(px+ q) + (px + ¢)?

= x* +2px3 + (p? + 2¢)x* + 2pgx + ¢*

205 A58 v}

2p =4, p>+2q = -2

p=2, ¢=-3°A

a=2pg=-12, b=¢*>=9




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




X3 —4x? +x+62 A4-2NHH (x+a)(x+b)(x+c) °Ith a®+b°+¢?
o] gk= F+stofet

flx) =’ -4x® + x+ 602t F O,
x=—-12d,-1-4-14+6=0
b, f(x) = (x + 1) 2 o] gojHdt,
fx)E (x+1)9 A5 ZHE=

f(x) = (x+1)Q(x) 5
O(x) = XHAH LR 3l
1|1 4 1 6




4. (x-3)(x—1)(x+2)(x+4)+24 E M (x4a) (x+b) (x*+cx+d)
olth. a+b+c—d2 g& Fotofet

> E:

> He: 10

B

x2 +x=AZE AgolH
(x=3)(x-1)(x+2)(x+4)+24
={(x=-1D(x+2)H(x-3)(x+4)} + 24
=2 +x-2) (x> +x-12)+24

— (A-2)(A-12) + 24
—A2-14A +48 = (A—6)(A—8)

=2 +x-6)(x2+x-28)
=(x-2)(x+3)(x* +x-28)
fatbtc-d=-2+3+1-(-8) =10




5.

A% nol] ko] ke S0l HYT W, f -2 o] gL

[(x+9)"+ (x=y)"P = [(x+y)" = (x=y)"]? = 4x 3"
@3 @ 4 ® 6 @ 7
D

[+ )"+ (x = )" = [(x +3)" = (x=»)"]?
=4x3"
H(x+y)(x

—y)=4x3
42—y =4x 3

¥ -y?=3




FA 2% +xy +5x -2+ 29+ 37 2x+ay + b)(x+ ey +d) =
Tl 2 W, a, b, ¢, d9] e AR A2 A27

6. kA
el
@13 1,1 @ 1,3 -1,1 (@)—1,3,1,1
@ -1,3, -1,1 ® -1, -3,1,1

B

(FA) =22+ (y+5)x- (y¥*-2y-3)
={2x-(y-3)Hx+ O+ 1)}
=2x-y+3)(x+y+1)

La=-1,b=3,c=1,d=1




I~

7. AN2OEA ASEx, oy, 2ol ot 23 +y% + 23 = 3xyz & S o,
x+y+z9 q2?

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0

1
Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
Jd8Y x, y, z 7V AR GE A AF(x#y£2) O|BEZ
x+y+z=0




(a-b) = 0 WE3H= A7+ ABCE of® 4291712
@ B=120°A 4447 © AZGAAH
® B=150°% EZ447Y  (@)ol5Hd7Y

® (A =35°% A7ty

B *

a’*b - a*c + b*c — b%a + c*a - c?b
=a?(b-c)+a(c+b)(c—b)+bc(b-c)
(b-c){a®+ (c+b)a+ bc}

= (b=c)(a+b)(a+c)
wb=c(ra+b#0, at+c#0)




a’b*(a - b) + b*c(b - ¢) + ?d*(c — a) & A5l oS W, th=
Z A7t obd ALY
® a-b @ b-c ® c-a

@a—i—b—i—c ® ab+bc+ca

B

227} e | 39 SR ol B Bkl Hste] 42
Sk

A5 g Aart e A el Hela.

L (F2]) = a®b? — a?b3 + b3 - b2 + Pa? - 2aP

= (b? - ®)a® - (b® - c)a® + b?c*(b - ¢)
(b= (b+c)a® - (b* + bc + ¢*)a® + b*c?}
= (b-o){(c? —a®)b? —a*(c — a)b — a*c(c — a)}
(b-c)(c—a){(c+ a)b* - a*b—d’c}
= (b-c)(c-a){(b?®-a*)c+ab(b-a))
=(b-c)(c-a)(b-a){(b+a)c+ ab}

=—(a=b)(b-c)(c—a)(ab + bc + ca)
wjebA 9147} obd AL @olet.




10. o3 &3} Zo] Al ¥ Fof7tq, b, ¢ A
2l AABC A a® + b3 + 3 —ab(a+ b) +
be(b+¢) —ca(c +a) = 0°] JHT o,
AABCE o® A2t Q171

@ a=b3 I5HAZY @ a=col o5 HAZHY
G) A =90°00 AR @ /B =90°% A7

a® +b% + ¢ —ab(a+ b) + be(b + ¢) — ca(c + a)
=a®+b% + ¢ - a®b — ab® + b*c + bc? - c*a - ca?
=a®-(b+c)a® - (b +c*a+b> + b*c+ b + 3
=a*—(b+c)a® - (b* +c?)a+b*(b+c)+ A (b+c)
=a® - (b+c)a® - (b* + *a+ (b+c)(b* +c?)

=a® - (b+c)a* - (b*+c*)(a—b-c)
=(a-b-c)a® - (> +c?)(a-b-c)
=(a-b-c)(a®-b>-c?)

=0

ol w, a, b, c= AAFY A MO ZoJo]ER a#b+c
L a?-b:-c% =0,

Z a2 =02+ c?

TEhA], AABCE o & HIHO R
= /A = 90° ¢l | ZHAEZEe o)t}

11 a7l o




240 _ 935 _ 95 4 | _
11. o A& Fofelet

cCh "
| —

>
> ®E: 31

B

2% = x2 FH
240 935 _95 471 B—xT—x+1
235 _ 1 - xT—1
(x=1)(x" = 1)
=T

:x—1:25—1:31




12, Al 7Wel A4 a, b, coll St [a, b, ¢] = (a—b)(a—c) et & o,
[a, b, c] +[b, ¢, a] + [c, a, b] =0°]®HA [a, b, ]| BF2?

@o @ 1 ® 2 @ 3 ® 4

B

(a=b)la=c)+(b-c)b—a)+ (c—a)(c=b)=0
A5t A5t a? 4+ b2 + ¢ —ab—bc—ca =0
(a=b)2+(bh-c)?+(c-a)?=0

La=b=c

“ la, b, c]=(a-b)(a-c)=0




13. (a+b)(b+c)(c+a) +abes AR5 57

@ (a+ b)(ab+ bc + ca) @ (b+c)(ab+ bc + ca)
® (a+b)(a+b+c) @(a—}-b—i—c)(ab—i—bc—i—ca)

® (b+c)a+b+c)

B

a+b+c=kz2totH

(FA)= (k- a)(k - b)(k - c) + abc

=k3—(a+ b+ c)k* + (ab + bc + ca)k — abc + abc
=k{k* - (a+b+c)k+ (ab+ bc + ca)}
=(a+b+c)ab+bc+ca) (fa+b+c=k)




14.

2.2 2.2 | 2.2 2.2 2.2 | 722
bx(a®x* + 2a%y? + b%y?) +ay(ax +2b°x +b)’)% 7Heka)
bx + ay bx + ay
HY
D a?x? 4 b?y? @(ax+by)2
® (bx + ay)? @ 2(a’x* + b%?)

® (ax+ by)(bx + ay)

B

(A= bx(a®x? + 2a%y* + b*y?) + ay(a®x* + 2b°x* + b*y?)
= bx(a®x? + b%y?) + 2a*bxy?* + ay(a®x? + b*y?) + 2ab*x?y
= (a®x? + b%y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a*x? + 2abxy + b?y?)

= (bx + ay)(ax + by)?

mHebA], (= A= (ax + by)?




15. A%

(

a, b, colHstod a+b=-V2,b+c= V2L ©, (a-b)> +
)+ (c—a)3-3(a-b)(b-c)(c—a)S] 2"

@o @V @V @2 ® -2

B

(a=b)2+(b—-c)®+(c—a)® -3(a—b)(b-c)(c—a)
={(a-b)+(b-c)+(c-a)}
a=b)?+(b-c)*+(c-a)
—(a=b)(b-¢) - (b-)(c—a) - (c —a)(a= b))
=0




